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=H Alde s 7|2 FE* Tt AN 3R H| 21
1 7|1 AX - g2l £ 100,000 -
2 s 8= (115 130,000 39,000
3 = 17,500 5,250
4 Ha=t= 17,500 5,250
5 LA 852 56,000 16,800
6 MM _HAL O E 80,000 24,000
7 LK BEE ORI _EAE QI E 80,000 24,000
8 SAHISI0|E (d]) 14,000 4,200
9 ZOH|3}0| E (Z0)) 30,000 9,000
10 SIS0 E (L) 30,000 9,000
11 HOTH| 80,000 40,000
12 AR (SPEAIE) 80,000 40,000
13 1xperskd ofal (BEAIR) 50,000 25,000
14 AR (FHAIE) 10,000 5,000 o
15 1xrebsiy ofal (FFAIR) 10,000 5,000
16 =l | 170,000 85,000
17 SHIE (8o 8% 280,000 140,000
18 SHIE (80 5 FHAH) 200,000 100,000
19 SHIE (80 5 (FYAIH) 180,000 90,000
20 LIRS (Ae) 80,000 40,000
21 LIRS A (AU) 140,000 70,000
22 L2 H| 200,000 100,000
23 EAHO|EA ZtEH| 140,000 70,000
24 xHiHolE HELas 100,000 50,000
25 pH 5,000 1,500
26 ZEO|EA 7taH (6F) 160,000 48,000
27 =205t E (YD 30,000 9,000
28 =T 10,000 -
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